
Answers

10 × 4 = 40

There are 40 doughnuts altogether.

60 = 10 × 6

There are 60 candles in total.

3 × £10 = £30

There is £30 altogether.

a)	 false

b)	 true

c)	 false

d)	 false

e)	 true

f)	 Children choose any digits that make the statements correct.

g)	 2

h)	 Children choose any digits that make the statements correct.

i)	 7

a)	 10 × 8 = 80 sweets

b)	 Luisa: 10 × 5 = 50 cards. James: 10 × 8 = 80 cards.  
James has the most.

c)	 10 × 6 = 60 toys

d)	 30 = 10 × 3. They will need 3 pots.

visit twinkl.com

https://www.twinkl.co.uk/resources/white-rose-maths-resources/year-2-white-rose-maths-resources-key-stage-1-year-1-year-2/autumn-block-4-multiplication-and-division-year-2-white-rose-maths-resources-key-stage-1-year-1-year-2

